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@O  24x25 = @ 61+89+39 =
@  99x8I = 37+72+63 =
@ 24+52+76 = @  48%x25 =
@ 31xX103 = @ 13x98 =
® 49+19+51 = ® 103x22 =
® 2536 = @ 25x12 =
@  25%x44 = ® 68+78+32 =
102X44 = 84x25 =
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®

@

24X25

600

(4X6)X25 = (4X25)X6 = 100X6

qaxsg |

8019

(100—1)x81 = 100X8|—1x8| = 8100—8|

@ 24+52+76

@)

152

(24+76)+52 = 100+52

31X103

3193

31X(100+3) = 100X314+3x31 = 3100+93

® 49+19+51

®

@

119

(49+51)+19 = 100+19

25X36

q00

25X (4X9) = (25X4)x9 = 100x9

25X44 = | 100
25X(4X1 1) = (25%4)X | | = 100X | |
102X44 = 4488

(100+2)X44 = | 00X44+2X44 = 4400+88

@ 61+89+39

/16

| 89

(61+39)+89 = 100+89

37+72+63

|72

(37+63)+72 = 100+72

an 48X%X25

1200

(4X12)X25 = (4X25)% 12 = 100X |2

@ | 3X98

1 274

13X(100—2) = 100X 13-2x13 = 1300-26

@ 103x22

2266

(100+3)X22 = 100X22+3%X22 = 2200+66

@ 25X 12

300

25X (4X3) = (25X4)X3 = 100X 3

® 68+78+32

178

(68+32)+78 = 100+78

84%X25

2100

(4X21)X25 = (4X25)x2| = 100x2|




